7 6 5 ‘L 4 3 I 5 CMI MATERIAL NFWBRAT_ERIAL NUMBER: SHEET 1 REV A
ITEM | PART
NO. INUMBER DESCRIPTION QTY.
1 21100 [1.0X.065 X4.50 LG 2
TORQUE O 2020 DD 221100 [1.0 X065 WALL X 18.0 IN LONG 1

TORQUE TO 10-15 FT/LBS 3 |28013 |PLATE, SUPPORT, 5-HOLE 2

USE BLUE LOCTITE 4 128014 |SPACER, 304 ST. ST. 2
5 128023 |4.5" DIATAIL SUPPORT 2
6 28024 |4.5" DIA TAIL SUPPORT 2
7 138001 |NIPPLE, 1/2-20 UNF RH THD 3
8 /38002 |NIPPLE, 1/2-20 UNF LH THD 3
? 138009 |SWIVEL EYE - LH 304 ST. ST. 3
10 [38011 |SWIVEL EYE - RH 304 ST. ST. 3
11 138014  |1/2-20 NUT 3 —
12 |38016 [1/2-20 NUT L.H. 3
13 38081 [7/16- 14 SS NYLON INSERT LOCKNUT 2
14 138082 [7/16-14X 2.0 UNC BOLT 2
15 38083 [7/16-14 X 1.5 UNC BOLT 12
16 38084 [3/8-16 X 1.75 SHCS 2
17 138086 [3/8 LOCK WASHER 2
18 138087 [7/16 LOCK WASHER 14
19 150002 |BUSHING, CLEVIS EYE 12

TYP LH THREAD

TYP RH THREAD

)M
000 R

TYP RH THREAD

TYP LH THREAD

TYP RH THREAD

TYP 4 PLACES

ajsfom DEPARTMENT

CUSTOM MARINE INCORPORATED
NEENAH, WI

PREPARED |J RADKE

12/08/06 DESCR. 4.5" DIA CLAMP-ON,

CHECKED

UNLESS OTHERWISE SPECIFIED | ENGINEER

CYLINDER HEAD MOUNT

DIVENSIONAL TOLERANONG: | S O D ESENES [ SizE | WEIGHT LBS DWG.NO REV
e o | REAReER AR | °F ' " 13000 N
3 PLACE £.005 NOT TO BE USED OR REPRODUCED FOR ANY
REVISIONS ANGLES #1* O AT oM MARINE INCORPORATED SENT

ENN # REV. DESCRIPTION BY CK'D BY DATE THIRD ANGLE SCALE .q |MATERIAL: SHEET
DO NOT SCALE DRAWING +

0100 A RELEASED FOR PRODUCTION R 12/08/06 PROJECTION - 1:8 | 1 OF 2

T
8 7 6 5 ‘T‘ 4 3 2 ]
SOLIDWORKS DRAWING FILE

FA\HOME\CAD\cmi-cma work folder\Solidworks files\CMI\PART PRINTS\13000113000\



‘L CMI MATERIAL NUMBER:

TORQUE TO 20-25 FT/LBS
USE BLUE LOCTITE

TORQUE TO 10-15 FT/LBS
USE BLUE LOCTITE

C
\
/
— n\ ".\‘ —
’ \ I
=
( \ Cyxe Y N
N
SR \w/ 7
=
B
) Cusforn DEPARTMENT CUSTOM MARINE INCORPORATED
i NEENAH, WI
arine ( ’
ssssssssssssssss
PREPARED [JRADKE  [12/08/06 DESCR. 4 5" D|A CLAM P_ON
CHECKED . !

UNLESS OTHERWISE SPECIFIED ENGINEER CYLI N D E R H EAD MO U NT

Blmiﬂilgﬂiﬁ* 55:2&252&36 PROPRIETRY RIGHTS 10 1118 BRAWING AND. SIZE WEIGHT LBS DWG. NO REV

2PLACE +03 ' ANDIOR DATAARE CONEIDENTIAL AN ARE ' o '

3 PLACE +.005 NOT TO BE USED OR REPRODUCED FOR ANY C ‘| 3000 A

Bl N RS

DO NOT SCALE DRAWING |  THIRD ANGLE -@}E'» SCALE  q.g [MATERIAL: SHEET 2 OF 2

PROJECTION .

[ [
8 7 ) 5 3 2 ]
F:\HOME\CAD\cmi-cma work folder\Solidworks files\CMI\PART PRINTS\13000\13000\ IT\ SOLIDWORKS DRAWING FILE



	Sheet1
	Drawing View1

	PDF PRINT 50017
	Drawing View2


